8.1 Areas and Volumes by Slices (page 318)

CHAPTER 8 APPLICATIONS OF THE INTEGRAL

8.1 Areas and Volumes by Slices (page 318)

The area between y = z° and y = z* equals the integral of x3 — x4, If the region ends where the curves
intersect, we find the limits on z by solving x5 = x4, Then the area equals f(} (xs - x")dx = % - % = EIU

When the area between y = /z and the y axis is sliced horisontally, the integral to compute is | yzdy.

In three dimensions the volume of a slice is its thickness dz times its area. If the cross-sections are squares
of side 1 — z, the volume comes from [ (1 — x)zdx. From z = 0 to z = 1, this gives the volume %— of a square

pyramid. If the cross-sections are circles of radius 1 — z, the volume comes from [ x(1 — x)2dx. This gives the
volume § of a circular cone.

For a solid of revolutlon, the cross-sections are circles. Rotating the gra.ph of y = f(z) around the z axis gives
asolid volume [ x(£(x))2dx. Rotating around the y axis leads to [ x(f~1(y))2dy. Rotating the area between y =

f(z) and y = g(z) around the z axis, the slices look like washers. Their areas are x(f(x))2 — x(g(x))2 = A(x)
so the volume is [ A(x)dx.

Another method is to cut the solid into thin cylindrical shells. Revolving the area under y = f(z) around
the y axis, a shell has height f(x) and thickness dz and volume 27X f(x)dx. The total volume is [ 2xx f(x)dx.

122 -3 =1 gives z = +2; [2 [(1 — (2% — 3)]dz = 22

3 y2 =z =9 gives y = +3; [, [9 — y?|dy = 36

5 z* — 222 =222 gives s =12 (or z = 0) f_2[2z — (z* — 22%)jdz = 128

7Ty=12%=—1? +18zgwesz—0 9; fol(— 2+18::)—:1:2]¢:l:z:—24{3

9 y=cos z=cos’z when cosz=1o0r0,z=0o0r § or - f (cosz—cos z)dz=1-F
116 =21 gives z = 1; [} [e* — e3>~ Ydz = (¢ — 1) — ("';_l)
183 Intersections (0, 0) (1,3),(2,2); fo [3z — z]dz + fl [4-z- z]dz—
15 Inside, since 1 — z2 < V1 — z2; f V1-22—(1-2%)|dz=5-%

17V =[2 xy’dz = [ xb3(1- : )dz = "'g . around y axis V = 3"’; rotating

z = 2,y =0 around y axis gives a circle not in the first football

19V = [ 2xzsinz dz =227 21 fos x(8 — z)2dz = 512, fo 2xz(8 — z)dz = 22% (same cone tipped over)
23 [ x(z‘)2d=2= . [y 2rz ztdz =5

26 x(3)% 3 + fllszr(i)zdz = Ut x(1 )23 + fl/s 2rzldz ==

27 fol x|(z2/3)2 — (2%/ 2)n]dz = 2L, fo 2xz(z3/3 — 23/ 2)tfz = 8% (notice zy symmetry)

29022 =R? -2,V = [T x(R?- 2)dy— x(Rh? — &)

31 [* (2va? —2%)%dz = La® 88 [ (2y/T—y)2dy =2 387 [ A(z)dz or in this case [ a(y)dy

89 Ellipse; v/1 — z2tan6; 2(1 — z%) tanf; 2 tan

41 Half of xr?h; rectangles 43 fls x(52 — 2%)dz = 42« 45 fls x(42 — 12)dz = 30«
47 [ x((b - y)? - *)dy = §(6° - 3a%+24%) 49 [? x(3 - 2)%dz; [, 2xy(2)dy + [ 2xy(3 — y)dy
51 [Px(L)%dy="E-¢) 53960xrcm B65L BT

59 2x 61 f: 2ry(2 — fy)dy = 3= 63 3xe 65 Height 1; [’ 2rz dz = xa?; cylinder
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8.1 Areas and Volumes by Slices (page 318)

87 Length of hole is 24/b2 — a2 = 2, s0 b2 — a? = 1 and volume is 43" 69 F, T(?); F; T

2 Intersect at (—v/2,0) and (v/2,0); area f_‘(zﬁ [0— (2 — 2)]dz = _8;?
4 Intersect when y? = y+ 2 at (1,—1) and (4,2): area = ffl[(y + 2) — y3|dy = %
6 y = z!/% and y = z* intersect at (0,0) and (1,1): area = fol(:tzl/5 )dz=3%-1= 3%
I SR
1

syzimeetsy=zl,at(1,1);upperlimit:z:=3:area.=f13( %)dz —[;1+ TTRET

z3

10 2z =sin7nz at z = % : area = fOI/Q(sin 7z — 27)dz = [— o812 ]1/2 =1-1

~% =¢) and z = 1 (where e* = ¢). Vertical strips

12 The region is a curved triangle between z = —1 (where ¢
end at e~ for z < 0 and at e* for z > 0: Area = ffl(c — e %)dz + fol (e —e*)dz = 2.

14 This region has y = 1 as its base. The top point is at z = 9,y = 3, where 12 — z = /z. Strips go
up to y = /7 between z =1 and z = 9. Strips go up to y = 12 — = between z =9 and z = 11.

Area = [J(vZ—1)dz+ [} (12-z - 1)dz=2(27-1)-8+22-20=%2 —6 = 3%,

16 The triangle with base from z = —1 to z = 1 and vertex at (0,1) fits inside the circle and parabola. Its area
is 2(2)(1) = 1. General method: If the vertex is at (t,v'1 — t2) on the circle or at (t, 1 — t?) on the
parabola, the area is V1 —t2 or 1 — t2. Maximum =1 at ¢t = 0.

(z—sin;cosz)]g — 522_

20 Shells around the y axis have radius z and height 2sin z and volume (27z)2 sin zdz. Integrate for the volume

2

18 Volume = foﬂ nsin? zdz = [r

of the galaxy: f0" 4rzsin zdz = [4x(sinz — z cos z)|§ = 8«
22 (a) Volume = fo x(1+e’)2d:z = 1r(——+2e+ *) (b) Volume —j}) 27 z(1+e%)dz = [nz? + 27 (ze® — %))} = 3.
4 3

24 (a) Volume—-f0 7 sin 2:d:t+f/4 7 cos? zdg = [5¢ — Tein2z| [’””-{-’”“‘2“]"'/2 -’L;-—%-{-i-—%—% =
-"'1?- . (b) Volume = fo/ 2rzsinzdz + [ //4 27z cos zdz = |27 (sin z — z cos :c:)]"/4

[21(cos z+ zsin :z)]ﬂ_,4 =r2(1- -—1—2-)

26 The region is a curved triangle, with base between z = 3,y = 0 and z = 9,y = 0. The top point is where
y = V72 — 9 meets y = 9 — z; then 2% — 9 = (9 — z)? leads to z = 5,y = 4. (a) Around the z axis:
Volume = f: n(z? — 9)dz + fsg 7(9 — z)%dz = 86x. (b) Around the y axis: Volume = f: 2rzv/z2 — 9dz+
J2 272(9 — z)dz = |25 (22 — 9)3/2[§ + [9m2? — 222°]9 = 27 (64) + 9x(9% — 5%) — 27(93 — 5%) = 144

28 The region is a circle of radius 1 with center (2,1). (a) Rotation around the z axis gives a torus with
no hole: it is Example 10 with a = b = 1 and volume 272, The integral is 7rf13[(1 +1-(z-2)?)-

(1-+/1-(z—-2)%dz = 4wf1 V1-(z-2)%dz = 4wf V1 — z2dz = 272. (b) Rotation around the
y axis also gives a torus. The center now goes around a c1rcle of radius 2 so by Example 10 V = ar2,

The volume by shells is ff 2rz((1+ /1 (2 —2)2) — (1 - /1- (z - 2)?)|dz = 4x fla zy/1—- (z — 2)%dz =
ar [ (2 +2)V1— 22dz = (odd integral is zero) 8x [} V1= 22dz = 4n.

30 (a) The slice at height y is a square of side 6—-2 (then side = 2 when y = 0 and side = 0 when y = 6).
The volume up to height 3 is fo —H)2dy = [ (6—”) 3= 639'33 = 7. (b) The big pyramid has volume
3 (base area) (height) = 3(4)(6) = 8. The pyramld from y = 3 to the top has volume 3(1)(3) = 1.
Subtract to find 8 — 1= 17.

32 Volume by slices = f_l(l —z%)%dz = f_l(l —-2z% + z4)dz = Tg

34 The area of a semicircle is iwrz. Here the diameter goes from the base y = 0 to the top edge y = 1 — z of the
triangle. So the semicircle radius is r = 152, The volume by slices is fol 2(152)%dz = [—%%J—a]}) =7

386 The tilted cylinder has circular slices of area 7r? (at all heights from 0 to k). So the volume is f(:l nridy = xreh.
This equals the volume of an untilted cylinder (Cavalieri’s principle: same slice areas give same volume).
38 (Work with % region in figure.) The horizontal slice at height y is a square with side length 1/a2 — y2.

The area is a? — y2. So the volume is f:(a2 — y?)dy = 24°. Multiply by 8 to find the total volume lggas
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8.2 Length of a Plane Curve (page 324)

40 (a) The slices are rectangles. (b) The slice area is 2\/ 1 —y3 timesy tan 4. (c) The volume is
fol 2¢/1— yPytanfdy = [-3(1 - ?)%/? tan |} = %tan 6. (d) Multiply radius by r and volume by rS.
42 The area is the base length 2v/r?2 — 22 times the height @ The volume is f:' 2vr2 — z’M?dz = (odd

integral is sero) f:r 2Vr3 — z’%dz = hlai. This is half the volume of the glass!

44 Slices are washers with outer radius z = 3 and inner radius z = 1 and area (3% — 12) = 8x. Volume =
f: 8xdy = 24 7.

46 Rotation produces a cylinder with a cone removed. (Rotation of the unit square produces the
circular cylinder; rotation of the standard unit triangle produces the cone; our triangle is the unit
square minus the standard triangle.) The volume of cylinder minus cone is x(12){1) — {x(12)(1) = zf—
Check by washers: fol x(12 - (1- z)%)dz = fol x(2z — 2%)dz = 2%,

47 Note: Boring a hole of radius a removes a circular cylinder and two spherical caps. Use Problem 29 (volume
of cap) to check Problem 47.

48 The volume common to two spheres is two caps of height h. By Problem 29 this volume is 21r(rh2 - h;)

5O Volume by shells = [ 2xz(8 — 2%)dz = [8x2? — 32252 = 32 — U= = ggi; volume by horizontal disks =
J2 *ly1/*Pdy = (354P1%8 = 32 =

52 Substituting y = f(z) changes f: x(f~(y))?dy to flo xz? f'(z)dz. Integrate by parts with u = xz? and
dv = f'(z)dz : volume = [xz?f(z)|3 — [ 2xzf(z)dz = sero + [, 2xzf(z)dz = volume by shells.

56 flmo 2xz(1)dz = 2x(99) = 198x. 58 fos 2xz( ks )dz = [xIn(1 + 2%)]3 = x In 10.

60 [ ZIz(ﬁ)dz = [-2xv1— 23]} = 2r. . .
62 Shells around z axis: volume = f;___o 2xy(1)dy + [, 2xy(1 — Iny)dy = [xy?]} + [xy® — 2L Iny +2xi[¢
=x+xed —xe? + 21!'5;1 -x+0-2x}= %(e2 — 1). Check disks: [, x(e*)?dz = [r%:](l, = Z(e? -1).

64 (a) Volume by shells = [ 2xz(z — 2?)dz = 2x(3 - 1) = &: volume by washers = Jo 752 - y?)dy =
(3-H=5

66 (a) The top of the hole is at y = Vb2 — a2.

(b) The volume is [ (area of washer) dy = f_:}’% x(b? — y? — a?)dy = 4Z(b% — 22)3/3.

68 Note: The distance h is the vertical separation between planes. (a) The volume of a circular cylinder (flat
top and bottom) is xr2h. Remove a wedge from the bottom and put it on the top to produce the solid
between planes slicing at angle a. (b) Tilt so the top and bottom are flat. The base is an ellipse with area

The height is H = h sin a. The volume is again x r2 h.

,
sina*

«x times r times

8.2 Length of a Plane Curve (page 324)

The length of a straight segment (Az across, Ay up) is As = 1/(Ax)2 + (Ay)2. Between two points
on_the graph of y(z), Ay is approximately dy/dz times Ax. The length of that piece is approximately

\/ (Az)? + (dy/dx)2(Ax)2. An infinitesimal piece of the curve has length ds = 1+ (dy/dx)? dx. Then
the arc length integral is [ ds.

For y = 4 — z from z = 0 to z = 3 the arc length is fg\/—idx= 8v/2. For y = z° the arc length integral is

fV1+ex4dx

The curve z = cost,y = sint is the same as x? +yz = 1. The length of a curve given by z(t),y(t) is
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8.2 Length of a Plane Curve (page 324)

f\/(d):/di‘.)2 + (dy/dt2)dt. For example z = cost,y = sint from t = x/3 to t = x/2 has length f"/2 dt. The

speed is ds/dt = 1. For the special case z =t,y = f(t) the length formula goes back to [ /1 + (f'(x))2dz.

1[5 J1+ (321/2)2dz = E[(L2)%/2 — 1] = 18=8 g [\ /11 2%(s? + 2)dz = [, (1+22)dz = 3
5 [0 \/1+ (22 = i5)2dz = [2(2® + a)dz = B2
7 f: \/1 + (212 - 12~1/2)%dz = fl (/2 + iz"l/z)dz =31
fﬂ/z V9cost t sin®t + 9sin*t cos? t dt = f;l23costsint dt =2
11 f0/2 \/;in2t+ (1 — cost)?dt = fo’r/zm& "/223m dt=4-2V2
18 [IVE@t2t+1dt=fy(t+1)dt=2 15 [ VI+tcoszdr=3.820 17 [[\/1+ Ldz=2.003
19 Graphs are flat toward (1,0) then steep up to (1,1); limiting length is 2
21 g—f=\/363in23t+36c0823t=6 23 folx/2_6dy=\/ig
25 f_ll \/%(ey —e V)2 +1dy= f_fl 3(e¥ +e7¥)dy = e —e Y, =e— 1.
Using z = cosh y this is [ v/1+ sinh® y dy = [ coshy dy = sinhy|1, = 2sinh 1
27 Ellipse; two y’s for the same z 29 Carpet length 2 # straight distance v/2
31 (ds)? = (dz)z T (dy)? + (d2)%;ds = /()2 + ()2 + (%)2as;
ds = Vsin® t + cos? t + 1dt = v/2dt; 27v/2; curve = helix, shadow = circle

83 L= fol V1+ 4z2dz; foz V1+z2dz = fol V1+ 4u2? 2du = 2L; stretch zy plane by 2 (y = z? becomes ¥ = (£)?)

2 y = 22/3 has ¥ = 2z71/3 and length = fol(l + $272/3)1/2dz. (a) This is the mirror image of the curve
y = z3/2 in Problem 1. So the length is the same. (b) Substitute u = % + 2%/ and du = 2z7'/3dz

to get [13/° ut/2du(3) = [o2/2]35f7 = 1825432
4y= ;(3 — 2)3/2 ha.s = z(z? - 2)1/2 and length = f; \/m—:_z-)dz _ f;(:cz ~1)dz = §3Q

6y= 5}+§%has %=23—-4——- and length = fl (14 (=® - 1;)2)1/211-'1==f12(=l:6+.%,+ #)1/2‘11:
2
22 + gs)dz = 322

8 Length = fol V1+4z3dz = 2f01 Va2 + (3)2dz = [zy/22+ L+ tinjz+ /22 + {5 = \/§+ i—(ln(1+\/§)—-
/)= + e+ v6)

10 92 = cost —sint and 3 = —sint — cost and ( )2 + (%)2 = 2. So length = [ v/2dt = v/2r. The curve is
a half of a circle of radius v/2 because z2 + y? = 2 and ¢ stops at .

12 92 = cost — tsint and % =sint + tcost and (§5)% + (%)% = 1+ t2. Then length = [V 1+ t2dt. (Note:
the para.bola. y= —a: also leads to this length integral: Compare Problem 8.)

14 92 = (1- Lcos 2t)(— sin t) + sin 2t cost = 3 sintcos 2t. Note: first rewrite sin 2t cost = 2sint cos? t =
smt(l + cos 2t). Similarly % = 3 costcos 2¢t. Then (42)? + (2)2 = (2 cos2t)?. So length = ’r/ 3 cos 2tdt
= % This is the only arc length I have ever personally discovered; the problem was meant to have an asterisk.

16 Exact integral; fo V1+ e2%dz = fl V1 + u2de d" = (by integral 22 on last page) [Vu2+1—1n I—‘b@]f =

Vitez—2- —ﬂ(';\;z\/f;gzol

18 45 = —sint and 3% = 3cost so length = fo Vsin® t + 9cos? t dt = perimeter of elhpse This integral
has no closed form. Match it with a table of “elliptic integrals” by writing it as 4 fo V9 — 8sin® tdt =

12 f"lz \/1- gsin2 tdt. The table with k? = 2 gives 1.14 for this integral or 12 (1.14) = 13.68

for the perimeter. Numerical integration is the expected route to this answer.
20 The straight line must be shortest.
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8.3 Area of a Surface of Revolution (page 327)

23 Substitute x = t2 in [ /1+ Sz dz=[2 \/1+ 82 2t dt = [J VAT + 0% at.

24 The curve z = y?/2 is the mirror image of y = z°/2 in Problem 1: same length H'/;;_p/z (also Problem 2).

26 The curve z = g(y) has length [ m dy.

28 (a) Length integral = fo Vicos? tsin? t + 4 cos? tsin® ¢ dt = Jy 2V2|cos tsint|dt = 2v/2. (Notice that cost
is negative beyond ¢t = ¥ : split into [; /2 4 I /a- (b) All points have z + y = cos® ¢ +sin® ¢ = 1. (c) The
path from (1,0) rea.ches (0,1) when t = £ and returns to (1,0) at ¢ = x. Two trips of length /2 give 2v/2.

80 The strip around the ellipse does have area ss 7(a + b)A. But its width is not everywhere A (the width
is measured perpendlcular to the ellipse.) So it is false that the length of the strip is x(a + b).

84 Length of parabola = fo V1+ 422 dz = (by the solution to Problem 8) by/b2 + {+1In |b+4/62 + =% \/-
Length of straight line = v/62 + b4 = bv/b2 + 1. The In term approaches infinity as b — oo so the length
difference also goes to infinity.

8.3 Area of a Surface of Revolution (page 327)

A surface of revolution comes from revolving a curve around an axis (a line). This section computes
the surface area. When the curve is a short straight piece (length As), the surface is a cone. Its area is
AS = 2xrAs. In that formula (Problem 13) r is the radius of the circle traveled by the middle point. The
line from (0,0) to (1,1) has length As = /2, and revolving it produces area r/2.

When the curve y = f(z) revolves around the z axis, the area of the surface of revolution is the integral
[ 2xf(x) 1/1+ (df/dx)2dx. For y = z? the integral to compute is [2xx3V1+ 4xZdx. When y = 22 is
revolved around the y axis, the area is § = [2xxy/1+ (df /dx)2dx. For the curve given by z = 2t,y = 2,

change ds to V4 + 4t2dt.

1[5 2z [1+ (525)%dz = [y 2my [z + {dz = 4= 8 2 [ 2x(7z)/50dz = 147+/50
 [1 2nva—o3\[1+4 (Zydz = [} dndz=8x T [22x2\/T+ (22)2dz = Z(1 + 42%)3/2]3 = Z[173/2 1]

9 f: 2xzv/2dz = 9%V/2 11 Figure shows radius s times angle § = arc 2«R
18 2xrAs =n(R + R')(s — ¢') = xRs — nR's’ because R's — Rs' =0
16 Radius a, center at (0, b); (4)2 + (%) = a2, surface area [™ 2x(b + asint)a dt = 4x2ab
17 fl 21rz\/1+%-—2;d fl \;1:—"5— = x2 + 2x (write 22 — 22 =1 — (z — 1)? and set z — 1 =sin¥)
19 f1/2 2xz4/1+ X dz (can be done)
21 Surface area = [ 2x11/1+ Ldz > [ 2192 = 2xInz]{° = oo but volume = [° x(1)%dz =«

28 fo 2x8in ¢tV2sin?t + cos? ¢ dt—fo 2xsinty/2 — cos?t dt=f_1121r\/2—u2du=
ruv/2 — u? + 2xsin~?! :/'-‘_;]il =2x+ 2

2 Area = [ 272%\/1+ (32%)2 dz = [ (1 + 924)°/2]} = fp(10%/2 — 1)
4 Area = f:Zr\/4 — 23\ 1+ (Zy dz = f:41rdz =8x
6 Area = [ 2r cosh V1 + sinh? z dz = [} 2 cosh® zdz = [ 5(e?* + 2+ ¢~2%)dz = [5(5- + 22+ <5 )4 =
e x 2— -2
sg+2+ 55 -1)= §(F—+1).
8 Area = [} 2rzV1+ 22 dz = [3=(1+ 22)%/2)4 = 3§(23/2 -1)
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8.4 Probability and Calculus (page 334)

10 Area = 1-01 2rzy/1+ 3z~4/3dz. This is unexpectedly difficult (rotation around the z axis is easier). Substitute

u = 322/3 and du = 2z"'/3dz and z = (£)*/2 : Area = f(f 2m(£)3/2,/1+ 4 (2)Y/2 =
> Tuvu? + ldu = [E(u? +1)%/23 = %(103/2 —1). An equally good substitution is u = z4/3 + 1.

12 The surface area of the band is the surface area of the larger cone minus the surface area of the smaller cone.

14 (a) dS = 2xV1 — 22 = 2ndx. (b) The area between z = a and z = a + h is 2rh. All slices
of thickness h have this area, whether the slice goes near the center or near the outside. (c) 1 of the Earth’s
area is above latitude 30° where the height is Rsin 30° = %—. The slice from the Equator up to 30° has the
same area (and so do two more slices below the Equator).

16 Rotate a quarter-circle to produce half a sphere. The surface area is fo" /2 9xRcostVRZsin? t + R2cos? t dt =
JT12 2% R? costdt = 2xR2. Note the limits 0 < t < I

18 The cylinder has side area 2xrh = 2x(1)(3) = 5. The light bulb is a slice of a sphere, and its area is also
2rrh(r = 1 for the basketball in Problem 14, now r = 1). The slice thickness is h = 1 + L (check

triangle with sides 3 o 3[ 1) so 2xrh = (3 + 3£) Adding the cylinder yields total area 1r(3- + £)

20 Area = f11/2 2rz\/1+ Krdz = fl/2 ZWA/%‘.'—Lzadz. Substitute u = Vz* + 1 and du = 2z°dz/u to find

\/5 wruldu —_ _
f\/ﬁﬂ o = [ru—ZIn _t‘]\/—~/4 (V2 - @ 1 1n3\/L—‘*’— +iln 5\%*—4) ~ 5.0.
22 It seems reasonable that the strips of tape should be placed side by 51de (parallel) to best cover the disk.

The proof follows the hint: Each strip of tape is the zy projection of a slice of the sphere. Since the
strip has width A = ,i—,, the slice has surface area 2rh = 7 by Problem 14. (Less area if the slice is far
to the side and partly off the sphere.) The four slices have total area 47, which is the area of the
sphere. To cover the sphere the slices must not overlap. So the slices are parallel with spacing %

24 A first estimate is 4772 (pretend the egg is a sphere). Somewhat better is 4wab ~ 60 cm? for a medium
egg (a and b are half-axes of an ellipse). Really serious is to rotate the ellipse 5;— + %:— =1or

y= —\/a2 — 22, Then the surface area is f 2ﬂ'~\/a2 —z2,/1+ 5% ,)d:z: (use table of integrals).

a3(a3-z

8.4 Probability and Calculus (page 334)

Discrete probability uses counting, continuous probability uses calculus. The function p(z) is the probability
density. The chance that a random variable falls between a and b is f;) p(x)dx. The total probability is
ffom p(z)dz = 1. In the discrete case ) p, = 1. The mean (or expected value) is 4 = [xp(x)dx in the

continuous case and y = Y_ np, in the discrete case.

The Poisson distribution with mean X has p, = A®e~*/n!. The sum }_ p,, = 1 comes from the exponential
series. The exponential distribution has p(z) = e~® or 2¢72% or ae~#*. The standard Gaussian (or normal)
distribution has \/Z_Ep(z) =e" /2 1ts graph is the well-known bell-shaped curve. The chance that the variable
falls below z is F(z) = f_)_‘w p(x)dx. F is the cumulative density function. The difference F(z + dz) — F(z) is
about p(x)dx, which is the chance that X is between z and z + dz.

The variance, which measures the spread around p, is 02 = [ (x — ,u)zp(x)dx in the continuous case and
02 =Y (n— u)2pn in the discrete case. Its square root o is the standard deviation. The normal distribution

2 —
has p(z) = e~ (X-1)%/20 /V2ro. If X is the average of N samples from any population with mean u and
variance 02, the Law of Averages says that X will approach the mean u. The Central Limit Theorem says that
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8.4 Probability and Calculus (page 334)

the distribution for X approaches a normal distribution. Its mean is u and its variance is 0% /N.

In a yes-no poll when the voters are 50-50, the mean for one voter is u =0(3)+ 1(3) = %— The variance is
(0— p)?po+ (1 — p)’p1 = % For a poll with N = 100,7 is a/x/_— fﬁ There is a 95% chance that X (the
fraction saying yes) will be between u — 20 = % - Tlﬁ and u+20 = 2 + 10

1P(X<4)=L,P(X=4)=L,P(X>4)= 3 J5” p(z)dz is not 1; p(z) is negative for large z

5[, e %dz=1%;/, VOl erdzr (-01)2 7p(z) LF(z)=2for0<z<x(F=1forz>n)

ou=14%. 1+ 13- 2+ +3.1=4 llfmﬂ%‘%’:r)——ln(l+z2)lo = 400

18 [° aze % dz = [—ze™ | + [° e ¥dz =1

15 [ -2y = 2tanl g Joe®dz=1-¢"%[Jae™®dz=1-¢" 17 [T L e */104g = —¢~=/10]%3 = 1
19 Ezponential better than Poisson: 60 years — f: 0010 dr=1—¢"6= 45

21y=-"—;E;threeareass%eachbecause;t——atonisthesameas;tt.op+oandareasaddtol
23 —2pfzp(z)dz+p’fp(z)dz=—2p-p+#2-1=—;42
zsp=o-§+1-1+2 1=102=(0-1)2-3+(1-1)%-1+(2-1)%-1 =12

Also Y n?p, —p?2=0-1+1. $+4 1-1=1%
-s/l —-=2/3 -2 -
Wp=J5 —21".[0 2 1+[ /2]4_02

29 Standard dev1a.t10n (yes - no poll) < 2_{— 3 \/!W & Poll showed 810 = 22 peaceful.
95% confidence interval is from 32 to 22 o +&,or 93% to 100% peaceful

81 95% confidence of unfair if more tha.n *& = m = 2% away from 50% heads.
2% of 2500 = 50. So unfair if more than 1300 or less than 1200.

83 55 is 1.50 below the mean, and the area up to x4 — 1.5¢ is about 8% so 24 students fail.
A grade of 57 is 1.30 below the mean and the area up to u — 1.30 is about 10%.

85 .999; .9997000 = (1 — ;A-)1000 & 1 because (1— 1)™ — L.

2 The probability of an odd X =1,3,5,---is 1 + i+ &+ = —1% = % The probabilities p, = (3)"
4
do not add to 1. They add to § + % +:.--=380 the adjusted p, = 2(1)“ add to 1.
4P(X=2)+P(X=3)+P(X=85)=3+2+%= 32, so the probability of a prime is greater than

Nli—l

5= :.ThesumP(X=6)+P(X=7)+--- 64+123+ - equals ;. Most of these are not

prime so the probability of a prime is below 13 + L = 1"6

6 f{° Gdz=—5%] =% =1when C = 2. Then Prob (X <2)= [[ 1§ = -4 2= 3.
8[A=5(0)+:(1)+4(2]—. 10p=20)+1(1)+22+&0B)+ - =2(1+1+3+i+--)=2=1

12p= [ ze %dz =uv— [vdu=—ze %P + fo°° e fdz=1

14 Substitute u = 7'2; and du = 7‘%’;. The limits are still —co and +oco. The integral f_°°°° eV du= Vris
computed on page 531.

16 Poisson p,, = %e". Probability of a bump is po + p; = ¢™2 +2¢72 = Se~2 x .40.

18 Prob (X < 3) = [ e™%dz =1—¢~% » .95.

20 (a) Heads and tails are still equally likely. (b) The coin is still fair so the expected fraction of heads during
the second N tosses is % and the expected fraction overall is %(a + %), which is the average.

22 p = 0(1-p)?+1(2p—2p*) +2p* = 2p. Then o* = (0—21’)’(1—13)’+(1-217)’(211—2112)+(2—2p)’p2 =2p(1-p)
after much simplification. (First factor out p and 1 — p.) With N voters, 4= Np and o? Np(l P).

24 pu = [ zp(z) —fol:cdz— L Theno® = fol(z- 1dz=3(z-1)%15 = & Alsofo Pdz—p?=3-1= -1:-[2-
26 [2*p(z)dz = [§° 2(26‘2’)d:c = [-2%e 2P + [5° 2ze'2’da: = [-ze~2%|® + [;° e72%dz = 1. Then
0'2———[‘ =-1-—-z=z.
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8.5 Masses and Moments (page 340)

28 p= (P1+P2+P3+ )+(P2+P3+P4+ Y+ (ps+pat )+ =W +E)+ L)+ =2
30 p equals - 167161 167 167 E in four tosses. It looks more bell-shaped with 16 tosses.
82 2000 + 20 gives 1700 to 2800 as the 95% confidence interval.

% = 1. An actual average of 232 = 31.25 is 1.25 & above
the mean. The probability of exceeding 1 25 & is about .1 from Figure 8.12b. Wlth N = 256 we still

have %95% = 31.25 but now & = ﬁ =. To go 2.5 & above the mean has probability < .01.

36 (a) .001(.999)999 ~ .001(1 — &5)1°%° ~ .001%. (b) Multiply the answer to (a) by 1000 (which gives %)
gince any of the 1000 players could have been the one to win. (c) The probability p,, of exactly n

84 The average has mean i = 30 and deviation & =

winners is “1000 choose n” times (.001)"(.999)!%%%="_ This counts all combinations of n players times
the chance that the first n players are the winners. But “1000 choose n” = 1000(9919()2)(1(0:)0 —n+1) 10'?!0".
Multiplying by (.001)*1 gives p, # & which is Poisson (= fish in French) with A = 1. With A times

DY

1000 players, the chance of n winners is about %e

8.5 Masses and Moments (page 340)

If masses m, are at distances z,, the total mass is M = ) mp. The total moment around z = 0 is
M, = 3> mnxn. The center of mass is at Z = My /M. In the continuous case, the mass distribution is given by
the density p(z). The total mass is M = [ p(x)dx and the center of mass is at Z = [ xp(x)dx/M. With p = z,
the integrals from O to L give M = L2/2 and [ zp(z)dz = L3/3 and 7 = 2L/8. The total moment is the same
as if the whole mass M is placed at X.

In a plane with masses m,, at the points (z,, yn), the moment around the y axis is ) mpxn. The center of
mass has T =) mpxn/) mp and y = ) mnyn/ ) mn. For a plate with density p = 1, the mass M equals
the area. If the plate is divided into vertical strips of height y(z), then M = [ y(z)dz and M, = [ xy(x)dz.
For a square plate 0 < z,y < L, the mass is M = L2 and the moment around the y axis is My = L3/2. The
center of mass is at (Z,y) = (L/2,L/2). This point is the centroid, where the plate balances.

A mass m at a distance z from the axis has moment of inertia I = mx2. A rod with p=1from z =a to
z=bhas I, = b3/3 - 83/3. For a plate with p = 1 and strips of height y(z), this becomes I, = fxzy(x)dx.
The torque T is force times distance.

1z=1 3z=% 5z=2% 7z=2=7% 9z._—L—y nz=%R-y 137=4,5=14
15?5=3%=_ 211—fa:pda:—th:cpd:c+t2fpd:c, 2f pd:c+2tfpd:c—0fort—z

28 South Dakota 25 2n2%a%b 2T M,=0,M,=% 292 31 Moment
3371=3mnr2; ;Y muriw?;0 85 14%8%; 14%8%;%
37 g, solid ball, solid cylinder, hallow ball, hollow cylinder 39 No

41 T w5 v/1+ J by Problem 40 so T ~ v/1.4,4/1.5,1/5/3,V2

2M=3+3+3+3—12M —3(0+1+2+6)—27-E=%=%

aM=[Fadr =10 M= [Fdr=Lia= 4 = 3L

6 M = [ sinzdz = 2;M, = [ zsinzdz = [sm:z:—:t:cos:x:]{)r =mI=4%.
8M=1+4=5;My=1(1)+4(0)=1,M,,=1(0)+4(1)=4;E=%andy=§.

10 M = 3(Lab); M, = [ 3zb(1 - £)dz = 322 — 22js = _?_b and by symmetry M, 1%&;52 cuz_
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8.6 Force, Work, and Energy (page 346)

and § = % Note that the centroid of the triangle is at (&, 2.)

12 Area M = fol zdz + flz(2 — z)dz = 1 which is 1 (base) (height); M, = fol z2dz + ff z(2 — z)dz = 1 so that
z=1=1;M, = [y (strip length at height y)dy = fol y(2-2y)dy=3andy= l& % Check: centroid
of triangle is (1, 3).

14 Area M = [, (z — 2%)dz = % My = [ z(z- 2)d:t: =tandz= Jf— = 3 (also by symmetry);

M. =[oy(yi-y)dy=andy=g =%
16 Area M = 1(x(2)? - x(0)%) = —sf;M, =0 and Z=0 by symmetry, M; for halfcircle of radius 2 minus
M, for halfcircle of radius 1 = (by Example 4) 2(23 B)=Y andy= —f; %%
18I, = f“(‘/z 2 (strip height) dz = f“la z2adz = %3
201,=[°, 22(2va? — 23)dz = (integral 34 on last page) [5(222 - a?)Va? — 22 + "4—‘sin_1 Ela, = L:‘-
22 Around z = ¢ the moment of inertia is I = [(z — c)? (strip height) dz = [ 22 (strip height) dz—
2¢ [ z (strip height) dz + ¢2 [ (strip height) dz = I, — 0 + (c?) (area). This is smallest when ¢ = 0;
the moment of inertia I is smallest around the centroid.
24 Pappus cut the solid into shells (radius of shell = y, length of shell = strip width at height y). Then
V = 2xyM. This is the same volume as if the whole mass is concentrated in a shell of radius ¥.
26 The triangle with sides z =0,y =0,y=4—2zhas M =4 and y= - by Example 3. Then Pappus says that
the volume of the cone is V = 2x($)(4) = 32" . This agrees with 1rr2h 37(4)%(2).
28 Rotating a horizontal wire along y = 3 produces a cylinder of radms 3 and length L. Certainly § = 3.
The surface area is 2x(8)(L) (correct for a cylinder: A = 2xrh). Rotating a vertical wire produces a
washer inner radius 1, outer radius L + 1, A = x((L + 1)2 — 12) = x(L? + 2L). Pappus has
¥=% +1 and area = 2x(% + 1)L = x(L? + 2L) which a.grees
30 The surface is a cone with area 2xyM = 2#(-2-)\/ 1+m (by Pappus). This agrees with Section 8.3: area
of cone = side length (s = v/1+ m?) times middle circumference (2xr = xm). Problem 11 in Section 8.3
gives the same answer.
82 Torque = F —2F + 3F —4F -.- + 9F — 10F = —5F.
‘

34 The polar moment of inertia is Ip = [(z? + y’)dA which is I; + I,,. For a disk this is 5— + -2— = I3,

The radius of gyration is ¥ = \/ ¥ = \/ %{— The rotational energy is 1 Iow = faw’ "' . This is

also 1 MPw? = 1(xa?)(%)w?, when the whole mass M turns at radius 7.
36 J= —'- 18 smaller for a solid ball than a solid cylinder because the ball has its mass nearer the center.
38 Get most of the mass close to the center but keep the radius large.

40 The velocity is v? = 2 15% after a drop of h = y (this is equation (11) or (12): kinetic energy = loss of

potential energy). Take square roots v = ¢/y with ¢ = \/ 1—+”7; multiply by sin « for vertical velocity ?u .
Integrate % = ¢, /ysina or -‘% = csinadt to find 2,/y = ¢(sina)t or T = 2k 54 the bottom y = h.

csina

42 (a) False (a solid ball goes faster than a hollow ball) (b) False (if the density is varied, the center of mass
moves) (c) False (you reduce I, but you increase I, : the y direction is upward) (d) False (imagine the
jumper as an arc of a circle going just over the bar: the center of mass of the arc stays below the the bar).

8.6 Force, Work, and Energy (page 346)

Work equals force times distance. For a spring the force F' = kx is proportional to the extension z (this is
Hooke’s law). With this variable force, the work in stretching from 0 to zis W = [kx dx = %kxz. This equals
the increase in the potential energy V. Thus W is a definite integral and V is the corresponding indefinite
integral, which includes an arbitrary constant. The derivative dV/dz equals the force. The force of gravity is
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8.6 Force, Work, and Energy (page 346)

F = GMm/x2 and the potential is V = ~GMm/x.

In falling, V is converted to kinetic energy K = %mvz. The total energy K + V is constant (this is the
law of conservation of energy when there is no external force).

Pressure is force per unit area. Water of density w in a pool of depth k and area A exerts a downward force
F = whA on the base. The pressure is p = wh. On the sides the pressure is still whk at depth h, so the total
force is [ whi dh, where [ is the side length at depth h. In a cubic pool of side s, the force on the base is
F= wss, the length around the sides is | = 4x8, and the total force on the four sides is F' = 2rwsS. The work

to pump the water out of the pool is W = [ whA dh = %ws‘.

12.4ft1b;2.424...ft 1b 3 24000 Ib/ft; 831 ft 1b 5 10z ft 1b; 10z ft Ib 7 25000 ft 1b; 20000 ft 1b
9 864,000 Nkm 11 5.6 - 107 Nkm 13k=101b/ft; W =25ft1b 156 [ 60wh dh = 48000w, 12000w
17 JwAH?; 3wAH? 19 9600w 21 (1 - %)~3/2 23 (800) (9800) kg 25 =+ force

2 (a) Spring constant k = %f:’c%— = 25 pounds per inch

(b) Work W = Io kzdz = 25(3) = 225 #32 inch-pounds or %2 foot-pounds (integral starts at no stretch)
(c) Work W = [ kzdz = 25(26;2) = m inch-pounds.
4 W = [}(20z — 2%)dz = [1022 - 3;—] 86,V(2) -V(0)=36s0V(2)=4L;k=9L =20-322=8at z=2.
6 (a) At height h the burnt fuel weighs 100(2) = 4h so mass of fuel left = 100 - 411 kg
(b) Work = [ Fdz = [2°(100 — 4h)gdh = (1250) (9.8) Newton—km = 12,250,000 joules.
8 The side length at height h is 800(1 — zi5) = 800 — £h so the area is A = (800 — §3!1)2 The work is
W = [ whAdh = [>°° 100A(800 — Eh)2dh = 100[(800)3(302)2 — 1600(2){220° 4 (2)2(600)")
1010[&%8% _ 16(8)5% + L8]] = §101 ft-Ibe.
10 The changein V = G"'M is AV = G’mM(R 1o R+1o) GmMR, To7 = 20%’,"“ R,R o7+ The first factor
is the distance (20 feet) times the force (30 pounds). The second factor is the correction (practlca.lly 1)
12 If the rocket starts at R and reaches z, its potentla.l energy mcreases by GM m(— - -) This equals L my?

(gain in potential = loss in kinetic energy) so R - i = m and x = (R - m)‘l. If the rocket
reaches z = co then % = Egﬁ orv= \/%M— = 25,000 mph.

14 A horisontal slice with radius 1 foot, height h feet, and density p 1bs/ft® has potential energy x(1)2hpdh.
Integrate from h=0to h=4: f: xphdh = 8xp.

16 (a) Pressure = wh = 62 h lbs/ft? for water. (b) £ =32 50 £ = —g—h (c) Total force F = [ whédh =

20 62h(Eh)dh = (921() (30)% = 1,488,000 ft-Ibs.

18 (a) Work to empty a full tank: W = fwAH? = 1(62)(25x)(20) = 810,000x ft-Ibs = 973,000 ft-lbs

(b) Work to empty a half-full tank: W = [, : /2 wAhdh = %wAH 2 = 282,500~ ft-lbs = 730,000 ft-1bs.

20 Work to empty a cone-shaped tank: W = [ wAhdh = foH wrr? ?';—’,-dh = wnr? T For a cylinder (Problem
1) W= —zl-wAH 2= wxrz%?-. So the work for a cone is half of the work for a cylinder, even though the
volume is only one third. (The cone-shaped tank has more water concentrated near the bottom.)

22 The cross-section has length 10 meters and depth 2 meters at one end and 1 meter at the other end. Its area
is 10 times 1 = 15 m? multlply by the width 4m to find the total volume 60m3. This is — of the box
volume (10) (2) (4) = 80,80 ¢ 1 of the volume is saved. The force is perpendicular to the bottom of the pool.
(Extra question: How much work to empty this trapezoidal pool?)
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